7&

Madh 7% | Wed 9 Mae 2OI6 A

I \‘
L,
(H. Y P«H}\a( wtuf\‘/\&j @«M’*\d )

’24_/\_5-}; . What art geme I«wrc\ahw :)C:ﬁ
’F"Q‘z‘/\ ‘('\A ﬁy(x,y\ ?
@ QxéX,?’) = l~/\.£"}‘Q“+C~'\&0U3 V‘dﬁ c‘p C-L\C\vﬁﬂ_
m(‘ VC\{“Q{ d'p‘ﬁ ?Q}‘ OAT \otc-\'\av\jq_-ap' x only |

~

@ Qx 0<,y) = Sloea. & the lina Eavgent
2 o e g o T, pecdlel 7o

; the  xz-plang |
s
&

W : @
2u) y = eV ‘ Y Y,
- _° .
u.+\/7'
)
N v 2 v 1
dw :2—&3(&4—\13]; € STQ'HV)
FESR .
= ¢ -1 (urv® %@\Lﬁj]}
- |
= ’?-0(‘*4'\‘131
v
_ e
- =

Q—w"



MO

Sl
v (3
2 ow _ 9 _t - Moly A gushud U
(ctd) dv S_\TY uu—\l"l PM t (b

e gt — Q.‘l.z wtv"
& (u4 3 ;’J&. l

)

/"“

\

dlurv?)- €@ & (wv'-2Y)
P(ukvi) T T

SN

(st v zY. Q*-r-vz)q'

IR

) A ZA LI

o o S (xya) = lsw -2)|

FoYas .
i - el
Y
- XCOSC\/ 2 r[y ~2] 2 e ceity=2)
2o § gr) = g -=->]-><W\@~zﬂ
Hahad Akt ‘5&&‘3@%%\)
e - For -g(x,y) = ‘;tx‘f.psx‘?_?,"é N )’5 LAJ\ *v f/xl.ﬁyy’
% %—x‘(x,7'3 = quz'.f— G\/
> ( Oay)= W * 4 bwy
" )5)1/7 X & ‘?‘xY(XQ’) = l8)<72' “ TM&C\M’
N L U
% xy) = 0%y Not &
\\'\ S7(x)7l\ pt 7;(2\/2’4- S_\/L{ b g\/x( 1) b / \ @,\c&m‘>

3
7 &
!
h ﬁyy(x,\/) = 18xty + @y



Mt d/1lle

C_\O\(I‘Qud'\f TLII.MW\ ! Sm -\»kq%— —c i{ d\p_%.:ui
o & dsk D Wacly  satang the posat @/b> .
| & —;N 2N ‘ny ae confinosy on D, fhaa

ey @) = R e )

07\1.1.3-\.: we  nave 1)) (sok hard to ‘PMi exem?s

Whare ik OOT Mwe . Se (O RIO)

22
S = l%é—_’i;}) i+ .y )#6,0)

6 £ G, o)

Q\- N o) )Q‘J:\\B ) S;P'LG)&'LQ ’\"QS‘.'\za‘)
(\L
L gnons (8 5]

—

-

-l p co§ 2.0 = L e*5a406
“é_‘_[s"\w L= g rtsing

P thy exafe &, ©@0)F 4, ©0).

[Hm WA LSIAg x<y-cas 8 A,A;‘\ms polac  casrdoades 1

y=csiab



M 3))9/le

&

wa{ " \.\uw\@iﬁ ahead "o $/4.1 ((’ 920Y
Dedn: @s) 75 & crheal point o £ if
D R@w) =heey =0 o
() St dosins s o (e, 6) dosit s

R %Qm’,\ = @—5\“‘ + Qy—q\?' Fiod covheal puids.

o - ‘fx (x,v) = 2 (x=1) = Goy) e
o= .QYCx,y\ = 2@*‘4)

4.4 /lcw\aon*' Plantg and L \hear /Wmniwh
Bebn . W 22 F(y) ten T o5 diffuetid o+ @4)

2 S0y) = Fau)y+ L@ (x-a) +heu)y-b)
4 €, N&-a) + & gy )y -b)

e Jun ez o =l B &)
&) %ay) Ey)>6b)

Rﬂ.vmq—‘«~ Thape ({ & mmovt (.ow\{)gd' wq,7‘fﬂ W e 'H'U,f
Let Az= L@/Y\"pcq.lb\ Q'LA x-a=AX, )’—b:A\/ )

e £ i dffeudal ab @5) e
az = S @8 ax + @By + e +E Ay

whae 8 > 0 amd €0 as @y, ay) = (e.0)

Ruvacch . [ntuthaly  whet 1§ meant for{ b he Afeentals
it fhat s 9(?6“\ (S Q‘IPN)QMJ.QJ .1)7/ its MM{- /J(Q\L‘



Pl Y/af o

©
o S

/ﬂvlﬂ I ,S?)‘ and 07 st naar (a,b)
Gad  at comMnuey at @) Haw £ 4
dfethall o GL)

Ma-k ‘ ’Iks’s w -hjptu.l(y he e ML Bu
QXGWQ\O-S , dmdit  evyuhene



